23 May 2007
OK; I heard back from Pam.  Among other things – and as I’d suspected – the optical depth is effectively infinite and the absorbed backlighter spectrum doesn’t show up in the visualizer because the opaque emitter blocks the l.o.s. to the backlighter.  

Pam suggested that the detector can be visualized if we make it bigger: 

testWorkspace3.spw

test3_run1 (same as test2_run7 – no backlighter -  but with bigger detector)
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Here are some snapshots from the detector orientation menu (under “display”):
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In this last panel, it can be seen that the location of the detector is outside of the grid – at 2e13, as I specified (just wanted to double check, and make sure that that distance is relative to the origin – it seems to be). 

*But, what’s actually changing when I toggle between the two different volume_fractions/materials?  The color scheme changes; Does the red region represent the selected object and the blue everything else?  If so, why is there an intermediate green region? 

